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;7 Grey line: exponential fit Peak flux: 2.477+/- 0.588 c/s/cm? i
- Black Iing: p.ower law + gauss fit Fluence : 43.80+/- 6.65 c/cm? -
= Dashed line: power law Duration : 64.054/- 8.72 s B
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= Best duration model: 1. 3
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= Power law index: -1.060+/- 0.097 (chi*-red= 1.04) =
= | | bl ik Lt
SR VU i b bt b it s Ut b ot bt b gt it S b b
= WHH#M# ﬁﬂ WwwﬁwmHHHWH if Mﬂ#ﬁ i m ﬁwﬁ ww :M ﬂﬂﬁ WHHf:HN%WHW ﬁﬁﬁﬂm +W%HWWWM W ﬁﬂwﬁuﬁ Mﬂ%jﬂ;
i T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 50.65+/-11.15 s, fracgs= 0.36+/- 0.18) =
= Power law index: -1.432+/- 0.365 (chi’-red= 1.04) 3
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